Réservoir, circuit carburant 521

Voir planche 600

Voir planche 600

19

& partir de 182

de 0 a 181

26
F :
o
NUMERO DESIGNATION CODE PIECE (

1 Réservoir d'essence noir F03 52 172 CXFI
1 Réservoir d'essence jaune F03 52 172 CXND
1 Réservoir essence rouge 03 F03 52172 CXJC
1 Réservoir essence rouge 06 F03 52 172 CXID
2 Module carburant

3 Joint module carburant F02 52118 AX
4 Durite rampe injection D03 52190 CX
5 Durite d'essence droite D03 52 194 CX
6 Durite d'essence gauche D03 52192 CX
7 Embout rapide F03 52 188 AX
8 Raccord rapide F03 52 186 AX
15 Thermistance témoin essence FO1 52194 AX
16 Vis CHC M5*10 inox Q01 V0 183 XX
17 Vis CHC M5*30 inox Q01 V0 184 XX
18 Vis CHC M5*16 ZFN Q01 V0 182 XF
19 Joint embase bouchon réservoir F03 52 184 AX
20 Durite évent réservoir F03 52 182 AX
21 Collier ressort 9,8-10,4 Q01 B0 026 XX
22 Insert évent réservoir F03 52176 AX
23 Joint insert évent réservoir F03 52178 AX
24 Rondelle ZSN ZFN Q01 N0 003 XF
25 Collier 14,8 Q01 B0 005 XX
26 Vis BHC M5*10 Q01 V0 004 XF
27 Collier BCLE DEPORT Q01 B0 011 XX
28 Canon support accessoire F02 54 104 AX
29 Silent bloc réservoir arr F03 23232 AX
30 Vis CHC M6*40 C8,8 ZFN Q01 V0 079 XF
31 Ecrou autofreiné embase M6 Q01 E0 006 XX
33 Régulateur d'essence FO1 52192 AX

1surl



